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float *B;
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float *B;

B = new float;
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Pointer to Structs
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p)cuttent = “AC:

. (*p).volts = 115;

o =

p -> current = "AC";

p -> volts = 115;
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struct node
string word;
Int count;

node *link;

word

count

link

node
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list reference
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q = new node;

q -> link = p;
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g = new node;

g -> word = "end";

g -> count = 3: Pld | ] ] ) e

—}' end

g -> link = NULL,

r = p;
while (r -> link |= NULL) //szassvaovoundrr-> /ink = NULL
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pre = NULL;
o
while (r -> word 1="the’) ¢ { | 1| 1Ak} b .
{
pre =r;
r=r->link;
i
pre -> link = t -> link; p'} | 2 _)' | l

delete r;
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if (ore = = NULL)
{
P =p -> link;

delete r;
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headp| o | 2 | T | %{ | 2 T | ) 1
void printlist (listnode *head) //IN:pointer to list to be printed
{
while (head != NULL)
{
//no prior value of head was NULL.
cout << head->word << * “ << head-link<<end|;
head = head->link; //advance to next list node.
}
} /lend printlist
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struct node{

1nt score;

node* link;




void input(node*& first)

{
char ch; node *p,*q;
do
{

P =new node;

cout<<"score=?",cin>>p->score;p->link=NULL;
if(first==NULL)

first=p;
else{

qg=first;

while(g->link!=NULL)

g=9g->link;

g->link =p;

}

cout<<"Run again y/n?";,cin>>ch;

fwhile(ch=="y");




void print(node *first)

{
if(first!l=NULL)

{

cout<<first->score<<"

print(first->link);




while(current!=NULL && p->score > current->score)

void sort(node *first,node*& newlist)
prev=current;

current=current->link;

node *p,*prev,*current; }

while(first = NULL) if(prev==NULL)

ety
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newlist=p;
p = new node; i

p->score=first->score;p->link=NULL;
{

if(newlist==NULL) e
prev->link=p;

newlist=p;

p->link = current;

}

prev=NULL;current=newlist first=first->link;




int main()

{

node *first,*second;

first=NULL:

input(first);print(first);
second=NULL;
sort(first,second);
cout<<"Sort data"<<end|;
print(second);

return O;
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